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Question Number : 1 Question Id : 50521221869 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following principles defines that - development is a life-long process that never ends?
Options:

1. Principle of uniformity

2. Principle of integration

3. Principle of interaction

4, Principle of continuity

Question Number : 1 Question Id : 50521221869 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 50521221870 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about the children is correct from a socio-constructivist
perspective?

Options :

1. Children's behaviour can be explained in terms of small, incremental change due to experience;
2. Children's behaviour is totally determined by early experiences in life.

3. Children are born 'noble savages' and are corrupted by the society.

4. Children are active beings who construct knowledge by acting upon and interacting with their

socio-cultural context.

Question Number : 2 Question Id : 50521221870 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 50521221871 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While playing, a group of children enact scenes from a recent popular movie. This situation

highlights that is an important agency of socialization.

Options :
1. family
2. media
3. peers

4. religion

Question Number : 3 Question Id : 50521221871 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 50521221872 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match 'stages of development' with 'its characteristics' as given by Jean Piaget:



1. Formal operation stage (A) Able to think logically and can conserve

2. Pre-operation stage------------------ (B) Starts to reasoning hypothetically and abstractly

3. Concrete operational stage ------------------ (C) Begins to understand permanence of objects
4. Sensorimotor stage------------------ (D) Starts thinking symbolically but cannot conserve
Options:

1.1-A, 2-D, 3-B, 4-C
2.1-B, 2-D, 3-A, 4-C
3.1-D, 2-A, 3-B, 4-C

4.1-B, 2-A, 3-C, 4-D

Question Number : 4 Question Id : 50521221872 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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4 1-B,2-A,3-C,4-D

Question Number : 5 Question Id : 50521221873 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget, which of the following is necessary for learning?
Options :

1. Reinforcement and punishment

2. Active exploration by the learner

3. Observation and imitation

4. Language development which facilitates social interaction

Question Number : 5 Question Id : 50521221873 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 50521221874 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not advocated in a socio-constructivist classroom based on Lev

Vygotskian constructs?
Options :

1. Learning-for-exam

2. Creativity and critical thinking
3. Conceptual understanding

4. Experimental learning

Question Number : 6 Question Id : 50521221874 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 50521221875 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky, how do children acquire the ways of thinking and behaving that makes

up a community's culture?

Options :



1. Through social interaction
2. Through passive reception
3. Through conditioning

4. Through reinforcement.

Question Number : 7 Question Id : 50521221875 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 50521221876 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following describes 'Universal ethical principle orientation' stage of moral

development proposed by Lawhrence Kohlberg?

Options :

1. Satisfying personal needs

2. Maintaining the affection and approval of friends and relatives
3. Abstract universal principles that are valid for all humanity.

4. A duty to uphold laws and rules for their own sake.



Question Number : 8 Question Id : 50521221876 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 50521221877 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Progressive education views children as-

Options :

1. born with a high sense of morality and ethics which are 'god-gifted'
2. Tabula rasa' or blank slates.

3. miniature adults whose thinking is lesser than adults.

4. curious beings who learn through exploration of their surroundings.

Question Number : 9 Question Id : 50521221877 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1 AT T2 T © = A deRdT HIT AT TG i 2

- ™ s - N,
2. T USl/Th 14 514

S o O, Wl )
3 '!:31’3{: %R TaHen! |I=H 9%=h o =FH %l

) TSI SITOft ST 270 STTH-UTH Sl @IS STASUT o ST =T 2

Question Number : 10 Question Id : 50521221878 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following options correctly specifies the types of intelligence given by Howard

Gardner?

Options :

1. Therapist, Biologist, Industrialist
2. Athletic, Creative, Expressive

3. Practical, Analytical, Creative

4. Intrapersonal, Naturalist, Bodily-kinaesthetic

Question Number : 10 Question Id : 50521221878 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 50521221879 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In Vygotskian framework, language-
Options :

1. hinders cognitive development

2. facilitates cognitive development

3. does not influence cognitive development

4. functions independently of cognitive development

Question Number : 11 Question Id : 50521221879 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 50521221880 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a co-educational classroom which behaviour of the teacher would reinforce gender

stereotyping and hence should be avoided?

Options :

1. Same sex grouping and allotting differentiated learning tasks to boys and girls.
2. Showing males and females in non-conformist roles.

3. Discussing gender as a social construct.

4. use of gender neutral language

Question Number : 12 Question Id : 50521221880 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 50521221881 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following tools/methods does National Education Policy 2020 propose for

assessment of children?
(i) Role plays

(ii) Group work

(iii) Portfolios

(iv) Projects
Options :

1. (i), (iii)

2. (i), (iii), (iv)

3. (i), (iii), (iv)

4. (i), (i), (iii), (iv)

Question Number : 13 Question Id : 50521221881 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4. (1), (i), (iii), (iv)

Question Number : 14 Question Id : 50521221882 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements about the use of mother tongue by learners in the classrooms

is correct?

Options:

1. Schools should prescribe only one standard language for use in the classroom across all classes.
2. Schools should build a culture of respecting languages of all learners.

3. Schools should prescribe 'English' as the medium of instruction at all levels.

4. Schools should discourage learners from expressing in their mother tongue by imposing fines.

Question Number : 14 Question Id : 50521221882 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 50521221883 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): A teacher should adopt a culturally-responsive pedagogy in her class giving primacy

to children's socio-cultural contexts.

Reason (R): Schools need to follow structured uniform curriculum and individual differences

should not be considered in the classroom.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 15 Question Id : 50521221883 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 50521221884 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What are the identifying characteristics of dyscalculia?

Options :

1. Impaired maths calculation skills and difficulty in understanding numbers and maths facts.
2. Inattention, hyperactivity, and impulsivity.

3. Originality, fluency, flexibility.

4. Difficulty in muscle control, movement and coordination.

Question Number : 16 Question Id : 50521221884 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 50521221885 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Inclusive education includes -

(i) Students with learning disability.
(ii) Gifted students.

(iii) Students with visual impairment.

(iv) Students from marginalized communities.
Options :

1. (i), (iii)

2. (i), (iii), (iv)

3. (i), (ii), (iii)

4. (i), (i), (iii), (iv)

Question Number : 17 Question Id : 50521221885 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4 (1), (i), (iii), (iv)

Question Number : 18 Question Id : 50521221886 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What behaviour of a child will indicate to a teacher that the child has visual impairment?
Options :

1. Choosing to read the blackboard from far away.

2. Reading physical maps with minute details.

3. Completing worksheets with fine print quickly.

4. Struggling to read and squinting eyes while doing so.

Question Number : 18 Question Id : 50521221886 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 50521221887 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

To cater to the needs of learners who are gifted, a teacher should-
Options:

1. give specific instructions and detailed guidelines for undertaking tasks.
2. strictly follow the prescribed curriculum.

3. use standardized assessment measures.

4. give moderate to higher order thinking tasks.

Question Number : 19 Question Id : 50521221887 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 50521221888 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following should be practiced in an inclusive classroom?
Options :

1. Diagnostic labelling

2. Reasonable accommodation



3. Segregation of children

4. Competitive classroom ethos

Question Number : 20 Question Id : 50521221888 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 50521221889 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following factors affect learning?
(i) Attitude of the learners

(ii)) Age of the learners

(iii) Pedagogical strategies of teaching

(iv) Socio-cultural content of the learners
Options :

1. (i), (iii)



2. (ii), (iii), (iv)
3. (i), (ii), (iii)
4. (i), (i), (iii), (iv)

Question Number : 21 Question Id : 50521221889 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

(i), (iii), (iv)
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Question Number : 22 Question Id : 50521221890 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To learn meaningfully-
(i) children need to feel valued.

(i) children's experiences should be taken into account.



(iii) children should not be allowed questioning.
Options:

1. (i), (ii)

2. (i), (iii)

3. (ii), (iii)

4. (i), (ii), (iii)

Question Number : 22 Question Id : 50521221890 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 50521221891 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How should a middle school teacher respond to the errors made by the students during the

process of learning?

Options:



1. Immediately correct the students errors
2. Ask a peer to correct the student's errors
3. Give students opportunities to identify their own errors and work upon them

4. Shame the students so that they don't make any errors in future

Question Number : 23 Question Id : 50521221891 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 50521221892 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student who considers herself 'good at maths' blames her poor marks in exams on her failure to

have studies hard. This reasoning reveals-
Options :

1. an internal locus of control

2. her learned helplessness

3. uncontrollable factors



4. her belief in her ability

Question Number : 24 Question Id : 50521221892 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 50521221893 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Is there a role of fear in teaching-learning process? Choose the best option.

Options :

1. Yes, fear is a great motivator and should be used frequently by the teacher.

2. No, fear leads to withdrawal from learning and students take very few risks in fearful situations.
3. Yes, it is under the pressure of fear only that children make efforts to learn.

4. No, fear is an emotion and thus is not connected with cognition.

Question Number : 25 Question Id : 50521221893 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 50521221894 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Teachers should focus upon and encourage children to develop metacognition-

ability to think on one's own thinking.
Reason (R): Metacognitive knowledge is helpful for children to self-regulate their thinking.

Choose the correct option.

Options:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 26 Question Id : 50521221894 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 50521221895 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Out of the following, which mode of learning would best promote meaningful learning?
Options :

1. Rote memorisation

2. Passive listening

3. Understanding through linkages

4. Drill and repeated practice

Question Number : 27 Question Id : 50521221895 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 50521221896 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Students construct a lot of intuitive theories about natural phenomenon. A teacher should-
Options :

1. discourage the students from doing so.

2. punish the students from constructing their own conceptions that do not confine to the

textbook.

3. encourage the students to share these pre-conceptions and build the teaching- learning

pedagogy around them.

4. Ignore these theories and teach the concepts through direct instruction.

Question Number : 28 Question Id : 50521221896 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 29 Question Id : 50521221897 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While teaching for conceptual understanding a teacher should-
Options :

1. build connections with previous knowledge of the learners
2. avoid giving non-examples and exceptions

3. use the method of direct instruction

4. make provisions of 'assessment of learning' rather than 'assessment for learning'

Question Number : 29 Question Id : 50521221897 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AT TS 2 TSI 3 [O70, U5 STEAT0 i 347 AT =102

Options :
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Question Number : 30 Question Id : 50521221898 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a characteristic of an effective socio-constructivist classroom?

Options :

1. Fixed steps for answering the questions are written by the teacher on the board for students to
copy as it is.

2. Emphasis is placed on having only one correct process to approach and solve a problem.

3. Children are encouraged to be silent listeners and emphasis is placed on repetition and recall.

4. Group work and group problem-solving is encouraged.

Question Number : 30 Question Id : 50521221898 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Mathematics and Science



SectionId:

Section Number :
Section type:
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 31 Question Id

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
If

a=24x3? x53

b=23x 3 % 52

c=2° X 33 X5, then

what is the value of

HCF of aband ¢ 5
LCM ofabandc

Options :

[

505212712
2

Online
Mandatory
60

60

60

Yes

1
5052121280

Yes

: 50521221899 Question Type : MCQ Option Shuffling : Yes



Question Number : 31 Question Id : 50521221899 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
g a=2" x 3% x 5°

b=23 x 3 x staum

Px ¥ x 5%

o
Il
(]

= a,b siw c =1 HCF
a,b = c7=1 LCM

= O 47 22

Options :
1
1. 300

Question Number : 32 Question Id : 50521221900 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If 53 « 792 = 6125, then what is the value of (x + y)?

Options :



Question Number : 32 Question Id : 50521221900 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e 53 x V2=6125%,

AT (x + y) T H 7 E?

Options :

1. 6

Question Number : 33 Question Id : 50521221901 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following statement(s) is/are not correct?
Options :

1 The product of two proper fractions is greater than each of the two fractions.



2 The product of two improper fractions is greater than each of the two fractions.

g 1 7 2
Fractions = and L are reciprocals of each other.

If Radhika readsé part of a book in 1 hour, then she will read 2 part of the book in 2} hours.

Question Number : 33 Question Id : 50521221901 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 34 Question Id : 50521221902 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the value of 10.00007 X 0.003?7

Options:

1. 30.0000021



2. 10.00000021

3. 0.3000021

4. 0.03000021

Question Number : 34 Question Id : 50521221902 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
10.00007 x 0.003 T HT 74T 27

Options :
1. 30.0000021

2. 10.00000021

3. 0.3000021

4. 0.0300002 1

Question Number : 35 Question Id : 50521221903 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not true about the natural numbers?
(a) 1 is a factor of every number.
(b) Every factor of a number is an exact divisor of that number.
(c) Number of factors of a given number is finite
(d) 1 is the smallest prime number

Options :
1. only (c)



2. Only (b)
3. Only (c) and (d)

4. Only (d)

Question Number : 35 Question Id : 50521221903 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR SIS 3 aT H eIigd § § FI9-91 FHYF 96 T8 27
(a) | T ST T U UGS I 2

(b) ToFeT T =71 T TGS 36 H&1 ﬁﬂﬁmﬁl‘:ﬁﬁﬁéi
(c) Toreft &t 7% Wi & U S HEAT uiE w2

(d) | T BT AT WA 2

Options:

=

1 Fd (c)

Fad (b)

FaA () AT (d)

FIA (d)

Question Number : 36 Question Id : 50521221904 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For the data:
by 211523, 2.5, 23,16 14and 8
Range — ( Mode + Median) is equal to



Options :
1.7

Question Number : 36 Question Id : 50521221904 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

sTeEl —

5,7,11,3,2,5,23, 16, 14 37K 8 % {7 Uit — (S5 + ATeash) S 2

Options :

Question Number : 37 Question Id : 50521221905 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Numbers 6, 7,8, ............, 34, 35 are written on cards, one number on one card, and put in a hox. One card is drawn at
random from the box. What is the probability that the number on the card drawn is not a prime number?

Options:



| e

| ke

]
=]

s
[I%]
L

Question Number : 37 Question Id : 50521221905 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TSN 6,7, 8,.., 34, 35 1 el F ot T 2, o S o 7 e ST 2, e 5 e a5 7 Fean
T 21 39 G 5 0 V% T 0G0 0 W RTen] e 2] TReeTet 0 S R e ATed WGl 7 e 2 1
T A
Options :

1

S RS

27

Question Number : 38 Question Id : 50521221906 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In parallelogram ABCD, if two points P and Q are taken on diagonal BD such that DP= BQ, which of the following
statement (s) is/are correct?

() AAPDZ A (OB
(b)AP=CQ

(c)A AQB2A CPD
(d)AQ=CP

(e) APCQis a rectangle

Options :
1. only (a), (c), (d) and (e)

5. all (a),(b),(c), (d) and (e)
3. only (a), (b) and (d)

4. only (c) and (e)

Question Number : 38 Question Id : 50521221906 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR 74 ABCD ™, 7% vt BD T 2 g P it 0 e fert 0 2 7 DP = BQ &, et 7
EOER R R

() A APD=A QB
(b) AP=CQ

(c)AAagBEACPD

(d) AQ=CP

(¢) APCQ T 7 3
Options :

1. A (a), (c), (d) 3T (e)



o, T (@), (b), (0), (d) ¥ (e)

5 T (a), (b) ¥R (d)

4 m{c}ﬁ{e}

Question Number : 39 Question Id : 50521221907 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aman spends 80% of his salary and Vibha spends 75% of his salary, but their savings are equal. What will the income of
Vibha, if sum of their incomes is 3 810007

Options:
1. X64800

5> %45000
3 36000

4 332800

Question Number : 39 Question Id : 50521221907 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T 9 1 80Y, G A 2 T T T e 7 75 % G A 2, T e e e 7 f
T B, 918 S S A A 28100029

Options :
1. T64800

5 245000



3. 236000

4. 232800

Question Number : 40 Question Id : 50521221908 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The expression
36 (x +'n,,r}2 =25k 21,#]2 is factorised as

Options:
1. (11x—4y) (x+16y)

o (11x+4y) (x+16y)
3. (11x — 4y) (x — 16y)

4. (11x+dy) (x— 16y)

Question Number : 40 Question Id : 50521221908 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

CEED

36(x +y)’ —25(x —2y)* % TUEE E-
Options :
1 (11x—4y) (x + 16y)

5 (11x+4y) (x + 16y)



3 (11x—4y) (x —106y)

, (11x+4y) (x - 16y)

Question Number : 41 Question Id : 50521221909 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3 3 3
fx+ v =2and X ¥ ==, then the value of x>y +xy~ is
] g’ ; o

Options :

N —_—
PR FS @ |

@ |5

Question Number : 41 Question Id : 50521221909 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
3 % 2
?T% X+y=2 3ﬁ1‘ Xy = 1 % Gl _\’3 Yy + Xy i HMH % —

Options :
2

1. 8



= | N

Question Number : 42 Question Id : 50521221910 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
If 7(7x = 5) = 8(4x + 2), then the value Df? is

Options :
1. 35

Question Number : 42 Question Id : 50521221910 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

z x4+l
g 7(Tx — 5) = 8(4x +2) ®, Tt

FTAEE:

Options :
1. 3.5



Question Number : 43 Question Id : 50521221911 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If P=3x*—7x + 8

Cl=_‘r‘2 +8x-3

and

R=—5x2-3x+2,then
(O—R)—Pis equal to

Options :

1. 32-18x+7

2. 3x%+18x-13

3 637+ 18x— I3

4. 63— 18x—7

Question Number : 43 Question Id : 50521221911 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



IREP=3x"—Tx +8,

Q=x"+8x-3
ARR=—5x23x+2%
A (Q—R)—PaTER R
Options :

1 3718+ 7
5 3+ 18513
3. 6x°+ 18x—13

4 6x°—18x—17

Question Number : 44 Question Id : 50521221912 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is/are not true for a triangular pyramid?
(a) Triangular pyramid has six faces.
(b) Triangular pyramid has four vertices.
(c) Triangular pyramid has six edges.
(d) The sum of the number of faces, vertices and edges of a triangular pyramid is 14.
(e) Triangular pyramid is also known as a tetrahedron.

Options :
1. Only (a)
2. Only (b)

3 Only (b) and (c)

a. Only (e)



Question Number : 44 Question Id : 50521221912 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frefefian & & FH-a1/8 e Premen e & oo e 2 278
(a) PrsTR forTfere 3 o7 werer o
(b) %I‘{-lgcumu RIS & =1 3119 2
(c) PrerRr forrfere % 2 formm 2
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Options :

1 m{a}

, T (b)

5 e (b) 3R (c)

4 Fa (e)

Question Number : 45 Question Id : 50521221913 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following geometrical shape(s) has/have a rotational symmetry of order four?
(a) Square
(b) Rectangle
(c) Rhombus
(d) Trapezium
(e) Kite

Options :
1. Only (d) and (e)



2. Only (a) and (d)
3. Only (a), (b), (c) and (e)

4. Only (a)

Question Number : 45 Question Id : 50521221913 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
fefefias 3 & .ot SHeT ST e = i 0o U wuiHTe @ /8
(a) i
(b) T
(c) THETHT
e
(d) T
(e) TaT

Options :
, T (d) 3 (e)

, A (a) AT (d)

3 I (a). (b}ﬁ{c]ﬁ'({e]

Fd (a)

Question Number : 46 Question Id : 50521221914 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Line-segments AB and CD bisect each other at 0. Join AC and BD to form A AOC and A BOD. Then, which of the
following statements is correct?

Options :
1 A AOC and ABOD are congruent by AAS congruence criterion.

3 A AQC and ABOD are congruent by SAS congruence criterion.
3. A AOC and ABOD are congruent by S55 congruence criterion.

4. A AOC and ABOD are congruent by ASA congruence criterion.

Question Number : 46 Question Id : 50521221914 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TG AB ¥t (D T 8 1 O TRz a7 1] AC & BD fiemaw A Aoc #it A BoD &7
FeATegs & o .91 o W B

Options :
. AAOC 1 A BOD, AAS watmee 7am & watme 2

, AAOC ¥ A BOD, SAS Fatmem f7ae & Taimas 3

N A AOC # A BOD, SSS T3ty o9 & 9ahTaH 2|

A A AOC 371t A BOD. ASA Taimas 99 & g3t 2

Question Number : 47 Question Id : 50521221915 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Pis a point on side BC of a triangle ABC such that £ PAC =40° and £ ACB =35". If CB is produced to a point Q and AB =

AP then £ ABQ is equal to
Options :
1. I5°

5 95°
3. 105°

4 115°

Question Number : 47 Question Id : 50521221915 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Tt Pt ABC 1 T BC W P % fog 3 T o €1 £ PAC =40° 9 £ ACB=33° 13/ (B#1Q

TH AT T AB = AP 2, 7 £ ABQ EE —
Options :
1. 75°

Question Number : 48 Question Id : 50521221916 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The volume of a right circular cylinder is 38500 em? and the circumference of its base is 110 cm. What is its curved
surface area (in cm?)?

a2
(Taken_T]

Options :
1. 2200

5> 3300
3. 4400

4. 5500

Question Number : 48 Question Id : 50521221916 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
%&ﬁﬁﬁizﬂu o 1 A 38500 c1113émmwmﬁﬁﬁlIlOcm%lWéﬁ'—rﬂ?raW{@?W
(cm’ ) FT)

22

HI=;'#ﬁﬁ)

Options :
1. 2200

5 3300

3. 4400

Question Number : 49 Question Id : 50521221917 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The cost of grass carpeting in a rectangular garden at the rate 330 per m? is $180000. If the ratio of its length and
breadthis 5 : 3, what will be the cost of fencing of the garden at the rate of %50 per metre?

Options:
1. X16000

5> %4000
3. 38000

4 12000

Question Number : 49 Question Id : 50521221917 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR T 3 330 7 m” o6t 7 T ot e T o R 180000 ) 7 5 e S ST o e
532 A 50 T E o 3 = A A A e = A

Options :
1. 16000

5 24000

3. 28000

4. 212000

Question Number : 50 Question Id : 50521221918 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A rectangle ABCD of area 210cm? has 15 cm as its length. If the area of the rectangle ABCD is increased to 21 times of
the original area by increasing its length only, then what will be the perimeter of the rectangle so obtained?

Options:
1. 58 cm
2. 35cm

3. 49 cm

4. 98 cm

Question Number : 50 Question Id : 50521221918 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

210 ¢’ @WaﬁUﬁWABCD?ﬁW 15 cm | T A7 ABCD 1 47% et 391 ML@lﬁa@m

[FL I I

T 7 1 27 T T T, 1 56 T ST 47 1 e T 2

Options :

1. 58 cm
2 35cm
3. 49 cm

4. 98 cm

Question Number : 51 Question Id : 50521221919 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following is most appropriate for the “Hierarchical Nature” of Mathematics.

Options :

1. Mathematics is considered as one of the most difficult subjects at middle school level
o Concepts in mathematics follow a linear pattern
3 Division cannot be introduced if the subtraction and multiplication operations are not strengthened

4. Fractions can be introduced before introducing whole numbers

Question Number : 51 Question Id : 50521221919 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TITOTe ST UETEhTH e 3 (o708 (HATetigd 3 & Si=-8T SA1d ST 27
w3 = 3

Options:

, Torfe e T o TfOreT <Rt e S ferwEt = & 0SR FT ST 2
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Question Number : 52 Question Id : 50521221920 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In upper primary mathematics classes, the main emphasis should be on
Options :

1. giving lots of problems to practice.

o understanding of mathematical concepts and their applications.

3. learning geometrical proofs.

4. memaorising formulae and algorithms.

Question Number : 52 Question Id : 50521221920 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

= TTYHF erm %rma'raﬁﬁg@?r: %ﬁﬁmmjﬁﬂv -

Options :
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Question Number : 53 Question Id : 50521221921 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In mathematics, to prove that Statement, “A” is true one assumes the Statement “not A" is true and proves that it is a
contradiction.
This is an example of

Options :

1. Direct reasoning
2 Deductive reasoning
3 Inductive reasoning

4. Reductio-ad Absurdum

Question Number : 53 Question Id : 50521221921 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TV % 7 T 50 3 (ofT 301 U 3, T e 2, 7% W0 £ 1o ot o “T 78 2 9 e 2 o o
T g FE T A

Options :

| I T
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Question Number : 54 Question Id : 50521221922 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is Not a characteristic of ‘Guided-practice methods’ in teaching mathematics?
Options :

1. Modelled instruction

. Group work
3. Individual work with teacher as guide

4. Independent practice at home

Question Number : 54 Question Id : 50521221922 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR R e TR TR E e e T R T T
Options :

. ngﬁ?m

5 TGS o B9 § {31875k o |1y e |

4 TR AT ST FAT

Question Number : 55 Question Id : 50521221923 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A class VIl mathematics teacher distributes dot paper sheets to his students with a line segment AB drawn on them.
He asks the students to draw various shapes like parallelogram, rectangle, rhombus and square on the given sheets

using AB as one of the sides. Which student is most likely to successfully complete the activity?
Options :

1. Astudent who can only recognize the geometrical shapes in her surroundings
o Astudent who can describe the figure using the component parts and attributes of the figure
3 A student who can recognize the shapes only wholistically

4 A student who has memorised the names of the geometrical shapes

Question Number : 55 Question Id : 50521221923 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T AT V11 35 TT0 3 SRR, 3 oA v 1 e v w1 & 5 v Y AB. 1 @ T 41 S

ST FATT 1 721 T A 9 T T S 7 2 T ST e — T T, A7, W o
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Options :
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Question Number : 56 Question Id : 50521221924 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A mathematics teacher shows a number chart in her class with numbers 1 to 100 written on it. She then asks the
question:

* Select any number on the number chart. Add it to number to the left of it and the one to the right’ then divide by 3.
What did you get? Why? "
Which of the following statement is most appropriate in the given context?

Options:

1. Such questions help students in extending the number concepts to learning algorithms of basic operations
2. The teacher is using number chart to teach number sequence
3. Such questions help students in extending the number concepts to algebraic thinking

4. Number charts should be used only to teach patterns

Question Number : 56 Question Id : 50521221924 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e T 21 oAt ST AT O W S @ 2 T W | 100 7 37 Fea forg 2l 7] %
e 74 Tt 2
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Options :
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Question Number : 57 Question Id : 50521221925 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In mathematics, a statement that is based on a pattern but is yet to be proven is called
Options :

1. An axiom

2. A generalization
3 Conjecture

a. Deductive proof

Question Number : 57 Question Id : 50521221925 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 50521221926 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a mathematics class students are asked to solve “What will be the length and breadth of three different rectangles
with perimeter 24 cm each?
Which of the following statements is true in the context of above question?

Options :

1. It requires the skills of recall and reproduction to solve the question
5 A teacher should use open ended questions to enhance creativity among learners in mathematics
3 This question hampers the student’s understanding of perimeter of a rectangle

4. Only computational skills are required to solve the question

Question Number : 58 Question Id : 50521221926 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 50521221927 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mathematics is a way of thinking, since
a. it provides opportunity to the students to engage in proofs and examining patterns.
b. students reproduce formulae and symbols during problem solving.
c. students use appropriate strategies for solving new and different problems.

Options :
1. aandb

2. bandc
3 aandc

4. Only b

Question Number : 59 Question Id : 50521221927 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 50521221928 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The statement’ Learning experiences of students involve looking at specific examples and seeking patterns in order to
devise and write generalisations is most appropriate to

Options :

1. Project method

2. Inductive method
3. Deductive method

4. Analytical method

Question Number : 60 Question Id : 50521221928 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 50521221929 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘A’ is a celestial object that simultaneously revolves around two other celestial bodies
What could be ‘A™?

Options :

1. Venus
2. Pole star
3. Moon

4, Uranus

Question Number : 61 Question Id : 50521221929 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 50521221930 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When two neutral objects are rubbed against each other, they could acquire
Options :

1 unlike charges of same magnitude

o like charges of same magnitude

3. unlike charges of different magnitude

4. like charges of different magnitude

Question Number : 62 Question Id : 50521221930 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 50521221931 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct option.
Assertion (A): - Temperature of a conduction is more than that of an insulator when kept in a room overnight.
Reason(R):- Heat flow very slowly through conductors making them hot.

Options :

1. (A) is true and (R) is correct explanation for it
2. (A) is false but (R) is true
3. (A) and (R) are true but (R) is not true correct explanation

4. Both (A) and (R) are false

Question Number : 63 Question Id : 50521221931 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 50521221932 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about the image formed by a concave lens is always correct?
Options :

L is upside down and larger than the object.
o It is upside down and smaller than the object.
3 It is upright and larger than the object.

g It is upright and smaller than the object.

Question Number : 64 Question Id : 50521221932 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 50521221933 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Why is it easier to carry a bag with large and broad straps?
Options:

1. The force exerted by the bag increases

2. The pressure exerted by the bag increases

3. The force exerted by the bag decreases

a. The pressure exerted by the bag decreases

Question Number : 65 Question Id : 50521221933 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 50521221934 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct option.
Assertion (A): A magnet loses its magnetism if broken in two halves.
Reasoning (R): The magnetic field is strongest at the poles of magnet.

Options :
1. Both (A) and (R) are true but (R) is not the correct explanation

2. Both (A) and (R) are true and (R) is the correct explanation for (A)
3. (A)is true but (R) is false

4. (A) is false but (R) is true

Question Number : 66 Question Id : 50521221934 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 50521221935 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true for all metals?
Options :
1. They are hard.

2 They are less dense than water.
3 They are very reactive.

4. They conduct electricity.

Question Number : 67 Question Id : 50521221935 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 50521221936 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not an application of method of separation called centrifugation?
Options :

1. Separation of water from wet clothes in washing machine
2. Separation of butter from milk
3 Sepa ration of food items for adulteration

4 diagnostic tests in laboratories

Question Number : 68 Question Id : 50521221936 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 50521221937 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What changes will you observe in a test tube containing Hel if a few drops of Na oH are added to it?
Options:

1. It changes colour
5 It gives off a pungent smell

3. |t becomes warm

PR shows a brown deposit

Question Number : 69 Question Id : 50521221937 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

¥ 52 NaoH i T W va wgett, e HCL 2, 7 219 =41 ufta 2
Options :

| SEEHRT T g ST

, TEH § ATLOT T S

3 J8 A | SO

. mﬁé@ﬁﬁfﬁf\m{qm}ﬁmugn

Question Number : 70 Question Id : 50521221938 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

(A) is/are released from refrigerator and aerosol spray causing depletion of (B). (B) is responsible for blocking of (C) of
sun from searching the earth. Identify (A), (B), (C) :

Options:

1 (A) SO, (B) O3, (C) UV rays

5 (A) CO5 (B) Oy, (C) UV rays

3 (A) NO3 (B) Oy, (C) IR rays

4 (A) CFCs, (B) O3, (C) UV rays

Question Number : 70 Question Id : 50521221938 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 50521221939 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following conditions will be relieved by milk of Magnesia?
Options :

1. Headache
2. Burns
3. Fever

4. Acidity

Question Number : 71 Question Id : 50521221939 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 50521221940 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Mixing of baking soda with lemon juice leads to formation of bubbles along with evolution of a gas X.
The gas X is -

Options :
1. Oxygen

2. Methane
3. Carbon dioxide

4. Hydrogen

Question Number : 72 Question Id : 50521221940 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 50521221941 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following activities is meant to reduce friction for useful outcomes?

Options:



1. Making grooves on shoe-soles
2. Treading the tyres of trucks
3. Using brake pads in automobiles

4. Applying graphite between moving parts of machine

Question Number : 73 Question Id : 50521221941 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TP o 3 for FreTeEa § - TR T8 ) 9 0 ¥ o R s e

Options :

1 mﬁ\g\i #7779 W @ F T

5 ;q-;f =+ T F GEET a9

R TS o SI= THE2 T I a1

Question Number : 74 Question Id : 50521221942 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct option.
Assertion (A): Animals with monocular vision have increased field of vision than animals with Binocular vision.
Reason (R): Animals with monocular vision have ability to overlap vision fields.

Options :



1. A and R are true, R is correct explanation for A
o AandR are true but Ris not correct explanation for A

3. Alistrue but R is false

4. Ais false but R is true

Question Number : 74 Question Id : 50521221942 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 50521221943 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following process cannot be considered as an essential characteristic of all living beings?

Options:



1. Egestion
2. Excretion
3. Respiration

4. Reproduction

Question Number : 75 Question Id : 50521221943 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 50521221944 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following vitamin is most easily destroyed vitamin while cooking?
Options:

1 Vitamin By,

2. Vitamin A



3. Vitamin B4

4. Vitamin C

Question Number : 76 Question Id : 50521221944 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 50521221945 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the best method to remove the weeds?
Options :
1 Manually uproot the weeds

5 Manually remove he flowers and seeds

3 Burn the stubble after harvesting the crop



4. Spray weedicide

Question Number : 77 Question Id : 50521221945 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
g O & TTUaaR Tl 22 Sl T (&1 i1 27

Options:

| TSR AT § ST
, et 7R S A BT e
3. EET T o UL TIqUuT ot AT

4, FTEUTE AT T EEwE

Question Number : 78 Question Id : 50521221946 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following leads to an increase in rate of transpiration?
a. increase in area of leaf
b. increase in height of tree
c. increase in wind velocity

Options :
1. aandb

2. aandc

3. bandc



4. a,bandc

Question Number : 78 Question Id : 50521221946 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 50521221947 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Soil Percolation rate | Aeration Water holding
capacity

X High good Low

 ; Slow to medium | moderate moderate

7 Very slow poor high

Identify the type of soil on the basic of the information given
Options :

1. % sand, Y- loam , Z- clay



5 X loamy, Y- sand, Z- clay
3 X sand, Y- clay, Z- loam

4. % loam, Y- clay, Z- sand

Question Number : 79 Question Id : 50521221947 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 50521221948 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Identify the plants based on following adaptations
a. stems and leaves have thick waxy coating
b. leaves are needle shaped and are shed rapidly
c. leaves are finger like
d. stems have holes

Options :

1. A conifers, B- hydrilla, C- lotus, D- cactus
o A-cactus, B- conifers, C- hydrilla, D- lotus
3 A conifers, B-hydrilla, C- cactus, D- lotus

4. A lotus, b- conifers, C-cactus, D- hydrilla

Question Number : 80 Question Id : 50521221948 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 50521221949 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the most accurate description of scientific theories?
Options:

1. Good scientific theories become scienfific laws

2. Scientific theories have a higher status than scientific laws
3. Scientific theories are inferred explanations of observable phenomena

4 Scientific theories become law only when enough supporting evidence is available

Question Number : 81 Question Id : 50521221949 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 50521221950 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Experimentation in science should start from which of the following levels?
Options:

1. Primary

> Upper primary

3. Secondary

4 Senior secondary

Question Number : 82 Question Id : 50521221950 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 50521221951 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is NOT a desirable criteria to consider for adopting a new teaching approach?

Options :
1 The popularity and influence of the education organization or educator advocating the approach
o The potential of the approach to authentically present the content and process of science

3. The potential of the approach in exciting students about science and its possibilities

4. The extent to which the approach is supported by science education research

Question Number : 83 Question Id : 50521221951 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 50521221952 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What can be best possible way to make the science classroom more inclusive?

Options :



1. engage students in project work.
o conduct more experiments in classroom.
3 ask more questions to make students attentive in class.

4. provide variety of learning experiences.

Question Number : 84 Question Id : 50521221952 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 50521221953 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an observation?

Options :

1. Genetic heredity is encoded in nucleic acids (DNA or RNA).



2 The sky appears blue to us as blue light scatters more than other colours.

3. Particles in liquids and more randomly because they are bombarded by the other moving particles in the fluid.

4. Acurrent carrying wire creates a magnetic field around it.

Question Number : 85 Question Id : 50521221953 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 50521221954 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A science teacher asks class VIl students to conduct a survey in their neighbourhood and collect information on types
of fabrics used for their clothes. He then asks students to prepare a report on the basis of quality, price, durability and
hiodegradability of the fabrics used. This activity best promotes the assessment of which of the following?

A. Observation skill

B. Classification ability

C. Critical thinking

D. Communication

E. Value system

F. Gender sensitivity

Options :
1. A,B,D,F

, AB,CD
3 BGAE

4 D,CBF

Question Number : 86 Question Id : 50521221954 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 50521221955 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following illustrates effective participation of community in teaching science?
Options :

1. asking parents to help in the development of play ground
2. asking community members to help in developing proper sanitation facilities in school
3. asking parents to assist students in their work

4 ask community members to come as resource person to share their expertise

Question Number : 87 Question Id : 50521221955 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 50521221956 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“Biological weed control in aguatic vegetation” is a topic to be taught in the class.
Which of the following is best suited for teaching this topic?

Options :
1. role play

2. field visit
3. group discussion

4. collecting information from encyclopaedia

Question Number : 88 Question Id : 50521221956 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 50521221957 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the most important criterion to be considered for designing an activity for science
classrooms?

Options :

1. The activity should provide fun and enjoyment to the students
2. The activity should help students break away from learning from the textbook
3. The activity should provide some opportunities for hands on experiences.

4 The activity should lead to conceptual understanding

Question Number : 89 Question Id : 50521221957 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 50521221958 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following approaches to science teaching is most suited to replace students’ incorrect ideas about the
natural world with more scientific explanations?

Options :
1. Integrated approach

2. Conceptual change approach
3. Discovery approach

4. Project method approach

Question Number : 90 Question Id : 50521221958 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4. EIECZIaCIE)

Language I
SectionId: 505212713
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 5052121281
Question Shuffling Allowed : Yes

Question Id : 50521221959 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Directions: Read the extract given below and answer the questions
follow by selecting the correct / most appropriate options

When | left India and came to Europe and America a half
century ago, open-mouthed audiences gaped at the
presentation of yogasana positions, seeing them as some
exotic form of contortionism, these very same asanas have
now been embraced by many millions of people throughout
the world, and their physical and therapeutic benefits are
widely acknowledged. This in itself is an extraordinary
transformation, as yoga has lit a fire in the hearts of so many.

| set off in yoga seventy years ago when ridicule, rejection
and outright condemnation were the lot of a seeker through
yoga even in its native land of India. Indeed, if | had become a
sadhu, a mendicant holy man, wandering the great trunk
roads of British India, begging bowl in hand, | would have met
with less derision and won more respect. At one time, | was
as asked to become sanyasin and renounce the world, but |
declined. | wanted to live as an ordinary householder with all
the trials and tribulations of life and to take my yoga practice
to average people who share with me the common life of
work, marriage and children. | was blessed with all three.

The life of a householder is difficult, and it has always been.
Most of us encounter hardship and suffering and many are
plagued by physical and emotional pain, stress, sadness,
loneliness and anxiety while we often think of these as the
problems caused by the demands of modern life, human life
has always had the same hardships and the same challenges-
making a living, raising a family and finding meaning and
purpose.

These have always been and will always be the challenges
that we humans face. As animals, we walk the earth as
bearers of a divine essence, we are among the stars. As
human beings, we are caught in the middle, seeking to
reconcile the paradox of how to make our way upon the earth
while striving for something more permanent and more
profound. So many seek this greater truth in the heavens, but
it lies much closer than the clouds. It is within us and can be
found by anyone on the Inwards Journey.

Sub questions

Question Number : 91 Question Id : 50521221960 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The phrase ‘open-mouthed audience’ conveys that the
people are responding enthusiastically and
communicating their to performer.

1. amateurishness
2. predicament

3. excitement

4. inertia

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 50521221961 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the passage, exotic (para 1) is closest in meaning
to

. unusual
. nhative

. magical

. acrobatic

BN =

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 50521221962 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In the sentence, ‘yoga has lit a fire in the hearts’, ‘fire’
can be seen as a/an

1. heat

2. symbol
3. light
4. comfort

Options:
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 50521221963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Indeed, If | had become a sadhu..a’
The underlined is a/an clause.

1. Principal
2. Adjective
3. Adverb
4. Noun

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 50521221964 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Find the odd group from below-

sanyasin, mendicant, saints

. wanderer, seeker, saint

. yogi, householder, seeker

. renunciation, householder, yogi

.l:-mm_—l

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 50521221965 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The writer says that humans face a paradox in this
life. What is this ‘paradox'?

1. desire to become immortal

2. reconcile personal feelings

3. discover Truth

4. conflict between ordinary and divine.

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521221966 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of these statements, does not agree to the
main idea of the passage?

1. Yoga is not the exclusive right of a sadhu.

2. Worldly men, happily married with children can
be good yogis.

3. Yoga must reach the common masses.

4. All mendicants are great yogis.

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521221967 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

| ‘set off’ in yoga.
‘set off means the same as:

1. to go on a voyage
2. to halil a person

3. to make a decision
4. to attack somebody

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521221968 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



According to the writer, profound truth can be found -

. among the stars

. in the inner self

. among the heavens
. in the clouds

WA =

Options :
1.1
2.2
3.3
4.4

Question Id : 50521221959 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Directions: Read the extract given below and answer the questions
follow by selecting the correct / most appropriate options

When | left India and came to Europe and America a half
century ago, open-mouthed audiences gaped at the
presentation of yogasana positions, seeing them as some
exotic form of contortionism, these very same asanas have
now been embraced by many millions of people throughout
the world, and their physical and therapeutic benefits are
widely acknowledged. This in itself is an extraordinary
transformation, as yoga has lit a fire in the hearts of so many.

| set off in yoga seventy years ago when ridicule, rejection
and outright condemnation were the lot of a seeker through
yoga even in its native land of India. Indeed, if | had become a
sadhu, a mendicant holy man, wandering the great trunk
roads of British India, begging bowl in hand, | would have met
with less derision and won more respect. At one time, | was
as asked to become sanyasin and renounce the world, but |
declined. | wanted to live as an ordinary householder with all
the trials and tribulations of life and to take my yoga practice
to average people who share with me the common life of
work, marriage and children. | was blessed with all three.

The life of a householder is difficult, and it has always been.
Most of us encounter hardship and suffering and many are
plagued by physical and emotional pain, stress, sadness,
loneliness and anxiety while we often think of these as the
problems caused by the demands of modern life, human life
has always had the same hardships and the same challenges-
making a living, raising a family and finding meaning and
purpose.

These have always been and will always be the challenges
that we humans face. As animals, we walk the earth as
bearers of a divine essence, we are among the stars. As
human beings, we are caught in the middle, seeking to
reconcile the paradox of how to make our way upon the earth
while striving for something more permanent and more
profound. So many seek this greater truth in the heavens, but
it lies much closer than the clouds. It is within us and can be
found by anyone on the Inwards Journey.

Sub questions

Question Number : 91 Question Id : 50521221960 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The phrase ‘open-mouthed audience’ conveys that the
people are responding enthusiastically and
communicating their to performer.

1. amateurishness
2. predicament

3. excitement

4. inertia

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 50521221961 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the passage, exotic (para 1) is closest in meaning
to

. unusual
. nhative

. magical

. acrobatic

BN =

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 50521221962 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In the sentence, ‘yoga has lit a fire in the hearts’, ‘fire’
can be seen as a/an

1. heat

2. symbol
3. light
4. comfort

Options:
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 50521221963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Indeed, If | had become a sadhu..a’
The underlined is a/an clause.

1. Principal
2. Adjective
3. Adverb
4. Noun

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 50521221964 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Find the odd group from below-

sanyasin, mendicant, saints

. wanderer, seeker, saint

. yogi, householder, seeker

. renunciation, householder, yogi

.l:-mm_—l

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 50521221965 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The writer says that humans face a paradox in this
life. What is this ‘paradox'?

1. desire to become immortal

2. reconcile personal feelings

3. discover Truth

4. conflict between ordinary and divine.

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521221966 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of these statements, does not agree to the
main idea of the passage?

1. Yoga is not the exclusive right of a sadhu.

2. Worldly men, happily married with children can
be good yogis.

3. Yoga must reach the common masses.

4. All mendicants are great yogis.

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521221967 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

| ‘set off’ in yoga.
‘set off means the same as:

1. to go on a voyage
2. to halil a person

3. to make a decision
4. to attack somebody

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521221968 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



According to the writer, profound truth can be found -

among the stars

. in the inner self

. among the heavens
. in the clouds

.hmm_—x

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 5052121282

Question Shuffling Allowed : Yes

Question Id : 50521221969 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Directions: Read the extract given below and answer the
questions that follow by selecting the correct/ most
appropriate options.

1. The ship was cheered, the harbour cleared,
Merrily did we drop
Below the kirk, below the hill,
Below the lighthouse top.

2. The Sun came upon the left,
Out of the sea came hel
And he shone bright, and on the right
Went down into the sea.

3. Higher and higher every day,
Till over the mast at noon—
The Wedding —Guest here beat his breast,
For the heard the loud bassoon.

4. The bride hath paced into the hall,
Red as arose is she;
Nodding their heads before her goes
The merry minstrelsy.

5. The Wedding- Guest he beat his breast,
Yet he cannot choose but hear;
And thus spake on that ancient man,
The bright-eyed Mariner.

6. And now the STORM-BLAST came, and he
Was tyrannous and strong:
He struck with his o’ertaking wings,
And chased us south along.

7. And through the drifts the snowy clifts
Did send a dismal sheen:
MNor shapes of men nor beasts we ken—
The ice was all between.

8. The ice was here, the ice was there,
The ice was all around:
It cracked and growled, and roared and holed,
Like noise in a swound!

Sub questions

Question Number : 100 Question Id : 50521221970 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Given below area 4 examples of poetic/literary
mechanism used by the poet. Choose the option
which perfectly describes ‘the ships’ movement in the
poem, ‘Rime of the Ancient Mariner’

A B & D
And now The sun The ice
the came was here, |......... we
STROM- upon the |the ice was | drop
BLAST left, there, Below the
came, Out of the | The ice kirk, below
and he was | sea came | was all the hill,
tyrannous he! around: Below the
and strong : | And he It cracked | lighthouse

shone and top.

bright, growled,

and on

the right

Went

down into

The sea.

1. Only A is correct
2. Only B is correct
3. Only C is correct
4. Only D is correct

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 50521221971 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which best describes the poetic device
that lends music to the poem:

1. Alternative Rhyme

2. Rhyme and Rhythm

3. Repetition onomatopoeia
4. Repetition in reverse order

Options :



1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 50521221972 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which best describes the speaker and
the listener, respectively in the poem * Rime of the
Ancient Mariner’ using clues given in stanza 5

1. Happy and eager
2. Afflicted and patient
3. Insistent and kind
4. Ancient and modern

Options:
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 50521221973 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The expression “Red as a rose is she” is an example
of

1. Synecdoche
2. Simile

3. Metaphor
4. Metonymy

Options :
1.1
2.2
3.3



4.4

Question Number : 104 Question Id : 50521221974 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which best states the reason why the
poet used changes in weather from sunny to cold and
ice to depict conditions at sea.

1. To set a melancholic mood

2. To set a humorous mood

3. To set an ominous mood of fear
4. To set a gory tragic mood

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 50521221975 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The lines given below are on example of

The ice was here, the ice was there,
The ice was all around

1. Repetition
2. Hyperbole
3. Symbolism
4. Oxymoron

Options:
1.1
2.2
3.3
4.4



Question Id : 50521221969 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Directions: Read the extract given below and answer the
questions that follow by selecting the correct/ most
appropriate options.

1. The ship was cheered, the harbour cleared,
Merrily did we drop
Below the kirk, below the hill,
Below the lighthouse top.

2. The Sun came upon the left,
Out of the sea came hel
And he shone bright, and on the right
Went down into the sea.

3. Higher and higher every day,
Till over the mast at noon—
The Wedding —Guest here beat his breast,
For the heard the loud bassoon.

4. The bride hath paced into the hall,
Red as arose is she;
Nodding their heads before her goes
The merry minstrelsy.

5. The Wedding- Guest he beat his breast,
Yet he cannot choose but hear;
And thus spake on that ancient man,
The bright-eyed Mariner.

6. And now the STORM-BLAST came, and he
Was tyrannous and strong:
He struck with his o’ertaking wings,
And chased us south along.

7. And through the drifts the snowy clifts
Did send a dismal sheen:
Mor shapes of men nor beasts we ken—
The ice was all between.

8. The ice was here, the ice was there,
The ice was all around:
It cracked and growled, and roared and holed,
Like noise in a swound!

Sub questions



Question Number : 100 Question Id : 50521221970 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Given below area 4 examples of poetic/literary

mechanism used by the poet. Choose the option
which perfectly describes ‘the ships’ movement in the
poem, ‘Rime of the Ancient Mariner’

A B C D
And now The sun The ice
the came was here, |......... we
STROM- upon the | the ice was | drop
BLAST left, there, Below the
came, Out of the | The ice kirk, below
and he was | sea came | was all the hill,
tyrannous he! around: Below the
and strong : | And he It cracked | lighthouse

shone and top.

bright, growled,

and on

the right

Went

down into

The sea.

1. Only A is correct
2. Only B is correct
3. Only C is correct
4. Only D is correct

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 50521221971 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Pick the option which best describes the poetic device
that lends music to the poem:

1. Alternative Rhyme

2. Rhyme and Rhythm

3. Repetition onomatopoeia
4. Repetition in reverse order

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 50521221972 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which best describes the speaker and
the listener, respectively in the poem * Rime of the
Ancient Mariner’ using clues given in stanza 5

1. Happy and eager
2. Afflicted and patient
3. Insistent and kind
4. Ancient and modern

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 50521221973 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The expression “Red as a rose is she” is an example
of

1. Synecdoche
2. Simile

3. Metaphor
4. Metonymy

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 50521221974 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which best states the reason why the
poet used changes in weather from sunny to cold and
ice to depict conditions at sea.

1. To set a melancholic mood

2. To set a humorous mood

3. To set an ominous mood of fear
4. To set a gory tragic mood

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 50521221975 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The lines given below are on example of

The ice was here, the ice was there,
The ice was all around

1. Repetition
2. Hyperbole
3. Symbolism
4. Oxymoron

Options:
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 5052121283

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 50521221976 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Ritika gives her students a writing activity. She also gives them phrases or group of words describing
specific situations, ideas and vocabulary that the students need to use while completing the writing activity.
Ms. Ritika is doing a

1. guided composition with her students.

2. free composition with her students.

3. guided reading comprehension with her students.
4. intensive reading comprehension with her students.

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 50521221976 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Ritika gives her students a writing activity. She also gives them phrases or group of words describing
specific situations, ideas and vocabulary that the students need to use while completing the writing activity.
Ms. Ritika is doing a

1. guided composition with her students.

2. free composition with her students.

3. quided reading comprehension with her students.
4. intensive reading comprehension with her students.

Options :
1.1
2.2
3.3

4.4

Question Number : 107 Question Id : 50521221977 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following activities is followed when

the teacher is teaching to read a passage intensively?

1. The teacher reads the passage aloud and explains the word meanings
2. The teacher reads the passage and provides detailed explanation about the choice of words,
mood, and intention of the writer.

3. The teacher reads the passage and gets students to ask for meanings of the words they don't
understand

4. The teacher reads the passage and gets students to underline the difficult word meanings.
Options:
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 50521221977 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following activities is followed when
the teacher is teaching to read a passage intensively?

1. The teacher reads the passage aloud and explains the word meanings

2. The teacher reads the passage and provides detailed explanation about the choice of words,
mood, and intention of the writer.

3. The teacher reads the passage and gets students to ask for meanings of the words they don't
understand

4. The teacher reads the passage and gets students to underline the difficult word meanings.

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521221978 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Rekha has the habit of first teaching the topic in detail and then providing a summary of what has been
taught. Ms. Rekha following the practice of teaching.

1. from simple to complex

2. from concrete to abstract
3. from analysis to synthesis
4. from induction to deduction

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521221978 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ms. Rekha has the habit of first teaching the topic in detail and then providing a summary of what has been
taught. Ms. Rekha following the practice of teaching.

1. from simple to complex

2. from concrete to abstract
3. from analysis to synthesis
4, from induction to deduction

Options:
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 50521221979 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When Mr.Garvit uses a diagnostic test in his class, he can

. identify intelligent students of his class.

. identify students who don’t do their homework
. identify students with learning difficulties

. identify students who are diligent.

BN =

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 50521221979 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



When Mr.Garvit uses a diagnostic test in his class, he can

. identify intelligent students of his class.

. identify students who don’t do their homework
. identify students with learning difficulties

. identify students who are diligent.

N T Y

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 50521221980 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Ms. Sangeeta uses pre-reading strategies in her class because she wants

1. her students to excel in their English examination.
2. to arouse her students’ interest in the topic

3. to give her students more homework.

4. her students to study on their own

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 50521221980 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ms. Sangeeta uses pre-reading strategies in her class because she wants

1. her students to excel in their English examination.
2. 1o arouse her students’ interest in the topic

3. to give her students more homework.

4. her students to study on their own

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 50521221981 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky's concept of learning and language was based on

1. Constructivist leaning theory
2. Behaviourist learning theory
3. Cognitive load learning theory
4. Humanistic learning theory

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 50521221981 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky's concept of learning and language was based on

1. Constructivist leaning theory
2. Behaviourist learning theory
3. Cognitive load learning theory
4. Humanistic learning theory



Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 50521221982 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Mini has designed a test paper which is very interesting and will help her understand how many students
know the concepts well: but administering this test for more than 5 students will be a challenge. Ms. Mini's
test paper lacks

1, Validity

2. Practicality
3. Reliability
4. Face validity

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 50521221982 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Mini has designed a test paper which is very interesting and will help her understand how many students
know the concepts well; but administering this test for more than 5 students will be a challenge. Ms. Mini's
test paper lacks

1. Validity

2. Practicality
3. Reliability
4. Face validity

Options :

1.1



2.2
3.3
4.4

Question Number : 113 Question Id : 50521221983 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

tests aim at testing the learners ability to apply what she knows and has learnt about a
language to a real life situation.

1. Competency
2. Proficiency

3. Achievement
4. Performance

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 50521221983 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

tests aim at testing the leamers ability to apply what she knows and has learnt about a
language to a real life situation.

1. Competency
2. Proficiency

3. Achievement
4. Performance

Options :
1.1
2.2
3.3
4.4



Question Number : 114 Question Id : 50521221984 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Sheela is teaching about the types of sentence to her class 7 students. She first gives them some
examples of sentences that we commonly hear and then she goes to explain what the various types of
sentences. Ms. Sheela is following which teaching maxim?

1. from deductive to inductive
2. from concrete to abstract
3. from analysis to synthesis
4, from inductive to deductive

Options:
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521221984 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Sheela is teaching about the types of sentence to her class 7 students. She first gives them some
examples of sentences that we commonly hear and then she goes to explain what the various types of
sentences. Ms. Sheela is following which teaching maxim?

1. from deductive to inductive
2. from concrete to abstract
3. from analysis to synthesis
4. from inductive to deductive

Options:
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 50521221985 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Before starting remedial lessons for his students Mr. Dinesh should

. see how many have free time
. conduct a diagnostic rest

. talk to parents

. talk to students

Ju IS =

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 50521221985 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Before starting remedial lessons for his students Mr. Dinesh should

. see how many have free time
. conduct a diagnostic rest

. talk to parents

. talk to students

N % T L I Y

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521221986 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In Ms Shobha's English class, she would first read the given passage and would then explain its contents
and the meaning of the new words in the mother tongue. Rules of grammar were taught elaborately, followed
by practice in writing paradigms. Which language methodology was Ms Shobha using with her children?

1. The silent Way

2. The communicative Language Teaching

3. The Grammar Translation Method

4. The Structural - Oral -Situational Approach

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521221986 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In Ms Shobha's English class, she would first read the given passage and would then explain its contents
and the meaning of the new words in the mother tongue. Rules of grammar were taught elaborately, followed
by practice in writing paradigms. Which language methodology was Ms Shobha using with her children?

1. The silent Way

2. The communicative Language Teaching

3. The Grammar Translation Method

4. The Structural - Oral -Situational Approach

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 50521221987 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following practices will help most in developing oral language skill?

1. Reciting poems individually and in chorus.

2. Participating in role plays.

3. Chorus reading of chapter in the textbook after the teacher.

4. Practising the correct pronunciation of words in chorus after the teacher.

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 50521221987 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following practices will help most in developing oral language skill?

1. Reciting poems individually and in chorus.

2. Participating in role plays.

3. Chorus reading of chapter in the textbook after the teacher.

4. Practising the correct pronunciation of words in chorus after the teacher.

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 50521221988 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A good speaking activity is the one where

1. teachers talk more.

2. learners talk more.

3. participation is uneven.

4. participation by outspoken students is maximum.



Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 50521221988 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A good speaking activity is the one where

1. teachers talk more.

2. learners talk more.

3. participation is uneven.

4. participation by outspoken students is maximum.

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 50521221989 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In learning a language mistakes

1. helps in learning.

2. are hindrance in learning.

3. Increases the load of correction work.

4. provide negative reinforcement to learners.

Options :
1.1
2.2
3.3



4.4

Question Number : 119 Question Id : 50521221989 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In learning a language mistakes

1. helps in learning.

2. are hindrance in learning.

3. Increases the load of correction work.

4. provide negative reinforcement to learners.

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 50521221990 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poem that interest most the primary level learner is

1. Moral based poem
2. Reflective poem
3. Rhyming poem

4. Epic poem

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 50521221990 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
The poem that interest most the primary level learner is
1. Moral based poem

2. Reflective poem
3. Rhyming poem

4. Epic poem
Options :
1.1
2.2
3.3
4.4
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Question Id : 50521221991 Question Type : COMPREHENSION Sub Question Shuffling Allowed
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Sub questions

Question Number : 121 Question Id : 50521221992 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 50521221993 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 50521221994 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 50521221995 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 50521221996 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 50521221997 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 50521221998 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 50521221999 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Id : 50521221991 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Question Number : 121 Question Id : 50521221992 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 50521221993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 50521221994 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AT HAHT AT TR F FTHR & A1 2] T2 T~
1. SFTi 3l 5)gd SAeed ol &
4. A 21 APHTETE =47 2l 2

Options :

I_Z-J'

Tad

1.1
2.2
3.3
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Question Number : 124 Question Id : 50521221995 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 50521221996 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1.1

2.2
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4.4

Question Number : 126 Question Id : 50521221997 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 50521221998 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 50521221999 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
2. T 77 feqm
3. e HE
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Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 2
Sub-Section Id : 5052121285

Question Shuffling Allowed : Yes

Question Id : 50521222000 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (129 to 135)



Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 50521222001 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 50521222002 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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3.3
4.4

Question Number : 131 Question Id : 50521222003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 50521222004 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 133 Question Id : 50521222005 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 50521222006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 50521222007 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Id : 50521222000 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 50521222001 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 50521222002 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 131 Question Id : 50521222003 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 50521222004 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 133 Question Id : 50521222005 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 50521222006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 50521222007 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 5052121286

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 50521222008 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 136 Question Id : 50521222008 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 137 Question Id : 50521222009 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 50521222009 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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3. T 93 § FeT § GETEee andl ¢
4. TH 93T o 7 off Hi7 @ 2

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 50521222010 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

G T FaTfard T aredt i famarTar w1 @ 2
].. :J{fll :EHJJ

ferdfaaan

3. TewrasiaaT

I_Z-J'

s



Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 50521222010 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A 1 THITET 0 ATt STy et i o 22
3. Tewrersiomn

Options:

I_Z-J'

1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 50521222011 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

2. T TEA
Options :
1.1
2.2

3.3



4.4

Question Number : 139 Question Id : 50521222011 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

referfea o & % 1 7w w1 o Tiafafa T8 2
2. U O

Options :

1.1

2.2

3.3

4.4

Question Number : 140 Question Id : 50521222012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

oA T R e et B TR 2l &) 9 AT el & o 3 T ol @ o T e o o © fer

ST ] 5 T P 1 el 1 o et e 3

R e o g 1 S A 27

|, R SR F g
7 Wﬁ-‘ﬂi@ Gl
3, 916t -3 e 1 foga
Options :
1.1
2.2
3.3

4.4



Question Number : 140 Question Id : 50521222012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ofT e ST e = ] TR 2l 2| 7 AT e € 6 3 T S 6 S T e A 6 A

SR ] 75 9 o ) e o o e e 3

W o Feg o R A 22

|, AT AR gTa
2. "HUHBEHE Gl
3, 7 s Ao o fgr
Options:
1.1
2.2
3.3

4.4

Question Number : 141 Question Id : 50521222013 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

o T 0 O o v 1 el YRR o6 T W e ] AT o AR T i & o 2 el 6 )
F o v frges o S R 27

|, RIS § SIS
M RE
3, o g dsm

4, AT § FmIc
Options :
1.1
2.2
3.3
4.4



Question Number : 141 Question Id : 50521222013 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

SO T T T o e e el 5 YRR o e 1 | A AR 6 TR0 2 & 1 2 el 0 |
A o fore g o R A 7

[ 7 q;lqu-ﬂ-jf ATHATcHS
), T
3. Fegm A
4, ST, ¥ A
Options :
1.1
2.2
3.3

4.4

Question Number : 142 Question Id : 50521222014 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TSI 1 58 0 7 S o, S e o1 9 o Sl g o 2 & @ 1 90 2 0 1 e g
0t TR e 2
ST T 4 et A 21 e 20T 7 T T & 1R 36 2 2 7 g T o O 2 ) AR 1
1, T2 7 T |
2, SR S 0 R e |
IS EREIREET I IE]
Options :
1.1
2.2
3.3

4.4



Question Number : 142 Question Id : 50521222014 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
PR 4 0 1 U e o e ot o 3 e e 0 g ATk 2 1 & 1 98 e 3 1 TG4 felg
1 TR T
ST ST ST 2P0 1 Wt T 7 2 T 947 3002 e P g 9 T ) TN P o A M T
|, TN E o T |
2. R 4 9 0 4 0|
IR EREIRLEE R E T
Options :
1.1
2.2
3.3

4.4

Question Number : 143 Question Id : 50521222015 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T TV AT (G5 2T e ) A ol e e T a1 T AT o eng, e T 7 o 09 1 ¢, 7 e
T eI 7

L. 2 e 7
3, &
4, T

Options :

1.1

2.2

3.3

4.4

Question Number : 143 Question Id : 50521222015 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
TV AT (2579 21 . AT T Tl e e i o AT 9T o e el fafne o o v g €, 7
o A €

3. AW
4, G
Options:
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 50521222016 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

a1 feredt wafafues o1 eafa s1eg 1 91 & SATIR W TEadl & a1 39 997 FEd 87
3. 3TEX

4, 94

[ )

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 50521222016 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



<1 fereft Tt i et sree i Fo-1 & SAT9R T SEerd] € 9 39 991 Fed 22
L. ST 2T ST A 3T
2. @@=
3. FEW
4, TEA
Options :
1.1
2.2
3.3

4.4

Question Number : 145 Question Id : 50521222017 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

o1 T 3 T P AT & . S T 1 91 6 5 T e @ ) oA o 9 o o e
|, ST e

. fawmmm

3, T

[ ]

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 50521222017 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



o1 97 1 T . R e g 1 91 % 5 1 e @ ) oA 0 o 9 T o e
|, T e

. T e 1 e

3. Taae

]

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 50521222018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ST A, T3, T R 94 5 07 0 1 7 1 T A o o o e 1 0 e 5 ey v v
[ 131
), TG
3. M
4, d=d
Options :
1.1
2.2
3.3

4.4

Question Number : 146 Question Id : 50521222018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TV S, T, S S 91 2 1 3 21 7 T et o o e 6 00 5 e, e 20
.
2. v
LA EL
4. 9



Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 50521222019 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T, S W, T AN, 0 T 2 SRt i H o JaTeR0 & Wocehe] 30 STearac
aﬂmmarprauwwwmhﬁmﬂmwwcﬂﬁwwvwwmwmmhawqu
|, T
2, Hy
3, Tt

Options :

1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 50521222019 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T, e A, T AN, I T 2 Yeera e i H | o JaTeR0 & WocehTe] 30 IeRrac|
'ﬂwafwwmqﬁquﬁm?Wamwaﬁwwvwmmwmmﬁawqu
|, T
2, G
3, TeRTeTe

Options :

1.1



2.2
3.3
4.4

Question Number : 148 Question Id : 50521222020 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A1 | 7 1 feraferat i1 et wf-oedt 31 feaw rofl ved o fo 4

g qe T
T1d: 6:00 - 1 & 757 T 5:30 M & 95
UId: 7:00 54- FASIHF AT | I 6:30 T S 10T
qTd: 8:30 &- 59 d &l qrd: 7:30 0 @ e

QAT T 310 TererTiepant & et € fob Torm o ey 211 et o sferen @ ferman
QAT T ST FerefTTefat ol 34 G0 o STl e T o a6t feh erfer o s o it 27
1. AT ST fafe
2. GETHS-HiE - feafd e 9
3. GYSOTTCR 7T fareoT
4. OHEEHE M

Options:
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 50521222020 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



QAT QT 1 A et 2ht ferlt afer-eft 261 e RO et o fere

U TeAt
1T 6:00 T=- ST T THY T 5:30 S & a5
Ir: 7:00 F9- RO SE # AT | 9T 6:30 9 S 1 99
TT: 8:30 F- 579 @ Sle 91a: 7:30 T @ Al

WA Gt A TererTiepant @ et & fob T o iy 21 el fofe saferen @ fefman?
AT T T T o1 30 e o ST < ST vy 1 for farfer o7 o < 22
I, WW%&T
2. WEATHE-HITEH- et 31 39
3. YSOTTCHR T fareqoT
4, O 3T

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 50521222021 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frferfad o @ = 9t ua7 1 Terq w1Ed 82

1. B @ =N
ST T Tl

.

Acal-SAeal ge-l

!J

Lad

i

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 50521222021 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Faferfad o o = |7 937 & T 3Ed 22

1. T T I=ARY
Sl

Options :

[ -2

1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 50521222022 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

freafefad o & F-a1 ge i v % fag aatfas &7 3 meea @

1. T S=aR0T & a1 T3]

=21 fa@mae T 379 T 1
FERT ST SR FTa oo fe Tl

o AT ST FST8qo7 FTeeft =T ST |

. G

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 50521222022 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FrfeTfEa o T a1 5 TR FOv # fAg dEtfoes &9 4 HeeaT o7

. e I==10 & A1 934
=1 foamae 4 o7emd 1 &

3. FEHAT 3T AR T97T Tehfad &

4. T AR AT 31797 |EfT 61 J T T
Options:

[

1.1
2.2
3.3
4.4



